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1. “¸ÛóÍÛÛÁõ ÅÛÛ½Û …¶Ûé ¸ÛóÍÛÛÁõ ”Û˜ÛÙ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾ÛÛ›÷¶Ûà ÍÛä”ÛÛïõÛÁõà¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¼Û›ÛÁõ¶Ûà ¾ÛýÛÛÙþùÛ¶Ûé ÍÛ¾Û›ÛÈÛé  

 ™öé.” – …Û ÜÈÛµÛÛ¶Û¶Ûé ÍÛ¾Û›ÛÈÛÛé. 14 

 “The concept of spillover cost and spillover benefit explains the limitations of market in 

the concept of social welfare.” – Explain the statement.  

                …¬ÛÈÛÛ/OR 

 •Û¾Ûé ©Ûé ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé : 

 Answer any two : 

 (1) ›ÛÐéüÁõ ÜÈÛ«ÛÈýÛÈÛÍ¬ÛÛ¶ÛÛ Ðéü©Ûä…Ûé ÈÛ¨ÛÙÈÛÛé. 

   Describe the objectives of public finance. 

 (2) ”ÛÛ¶Û•Ûà ÈÛÍ©Ûä¶ÛÛ ÅÛ“Û¨ÛÛé ˜Û˜ÛÛë. 

   Discuss the characteristics of private goods.  

 (3) “¾ÛæÅýÛïõ ÈÛÍ©Ûä”¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

   Explain the concept of “merit goods”.  

   

2. ÁõÛšýÛ¶Ûà …ÛÈÛïõ¶ÛÛ ÍÛÛµÛ¶ÛÛé¶Ûà ÜÈÛÍ©ÛÛÁõ¸ÛæÈÛÙïõ ˜Û˜ÛÛÙ ïõÁõÛé. 14 

 Discuss in detail, the sources of public revenue. 

…¬ÛÈÛÛ/OR 

 ”ÛÛµÛ¸ÛäÁõÈÛ¨Ûà¶ÛÛ ÅÛÛ½ÛÛÅÛÛ½Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 

 Explain the advantages and disadvantages of deficit financing. 

 

3. ïõÁõÍÛ×̧ ÛÛ©Û, ïõÁõÛ–ÛÛ©Û …¶Ûé ïõÁõÜÈÛÈÛ©ÛÙ¶Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ïõÁõÍÛ×̧ ÛÛ©Û¶Ûà ÈÛÐêü˜Û¨Ûà¶Ûé …ÍÛÁõïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé 
ÈÛ¨ÛÙÈÛÛé.   14 

 Define incidence, impact and shifting of tax. Describe the factors affecting distribution 

of incidence of tax. 

…¬ÛÈÛÛ/OR 
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 ÍÛ¾Û›ÛÈÛÛé : 

 Explain : 

 (1) ïõÁõÈÛéÁõÛ¶ÛÛé ÅÛÛ½Û¶ÛÛé ÜÍÛ±ùÛ×©Û 

  Benefit theory of taxation 

 (2) ïõÁõÈÛéÁõÛ¶Ûà Š©¸ÛÛþù¶Û Š¸ÛÁõ …ÍÛÁõÛé 

  Effects of taxation on production  

 

4. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ Š«ÛÁõ …Û¸ÛÛé : 14 

 Answer any two of the following : 

 (1) ›ÛÐéüÁõ ”Û˜ÛÙ¾ÛÛ× ¡ö¦ø¸Ûà ÈÛèÜ±ù¶ÛÛ ïõÛÁõ¨ÛÛé 

  Causes of growing public expenditure 

 (2) ›ÛÐéüÁõ ”Û˜ÛÙ¶Ûà Š©¸ÛÛþù¶Û Š¸ÛÁõ¶Ûà …ÍÛÁõÛé 

  Effects of public expenditure on production 

 (3) ›ÛÐéüÁõ þéùÈÛÛ¶ÛÛ ¸ÛóïõÛÁõÛé 

  Types of Public Debt 

       …¬ÛÈÛÛ/OR 

 ›ÛÐéüÁõ þéùÈÛÛ¶ÛÛé ¼ÛÛé›Ûé ˜Û˜ÛÛë. 

 Discuss the Burden of Public Debt. 

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 14 

 Choose the correct option : 

 (1) ›ÛÐéüÁõ ›÷¾ÛÛ ”Û˜ÛÙ¶ÛÛé Ðéü©Ûä ________ ¸ÛóÛ¸©Û ïõÁõÈÛÛ¶ÛÛé ™öé. 

  (a) ¾ÛÐü«Û¾Û ¶ÛºõÛé (b) ¾ÛÐü«Û¾Û …ÛÈÛïõ (c) ¾ÛÐü«Û¾Û ÍÛä”ÛÛïõÛÁõà 

  The objective of public finance is to secure _________. 

  (a) maximum profit (b) maximum revenue (c) maximum welfare 

 (2) ________¶ÛÛ ÍÛ×›Ûé•ÛÛé¾ÛÛ× ›÷ ¼Û›ÛÁõ ¸Û±ùÜ©Û ³ùÛÁõÛ ÍÛÛµÛ¶ÛÛé¶Ûà ˆÌ¤ø ºõÛÇÈÛ¨Ûà Ü¶ÛÜÊ˜Û©Û ¼Û¶Ûé ™öé. 

  (a) ¸Ûæ̈ ÛÙ ÐüÜÁõºõÛˆ (b) ˆ›ÛÁõÛé (c) …Å¸Û ÐüÍ©Ûïõ ˆ›ÛÁõÛé  

  Market system can secure optimum allocation of resources only under conditions 

of ________. 

  (a) Perfect Competition (b) Monopoly (c) Oligopoly 

 (3) ÈýÛÛ¸ÛÛÁõ˜Û’õàýÛ …ÈÛÁõÛéµÛÛé¶Ûé ________ ÍÛÛ¬Ûé ”Ûæ¼Û ›÷ ¶Ûœ÷ïõ¶ÛÛé ÍÛ×¼Û×µÛ ™öé. 

  (a) ¼Û×ÜµÛýÛÛÁõ …¬ÛÙ©Û×ªÛ (b) ˆ›ÛÁõÛé (c) ¾Ûäî©Û ¼Û›ÛÁõ …¬ÛÙ©Û×ªÛ 

  Cyclical disturbances have a much closer association with a ________. 

  (a) close economy (b) monopoly (c) free market economy 
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 (4) ÍÛÛ¾ÛÛÜ›÷ïõ ÈÛÍ©Ûä…Ûé …¶Ûé ÍÛéÈÛÛ…Ûé¶ÛÛ Š©¸ÛÛþù¶Û¾ÛÛ× ÍÛà.”Û˜ÛÙ ________ ÐüÛéýÛ ™öé. 

  (a) …éïõ ïõÁõ©ÛÛ× ÈÛµÛä (b) ÉÛæ¶ýÛ (c) …éïõ ïõÁõ©ÛÛ× …Ûé™ä×ö 

  The marginal cost involved in the production of social goods and services is 

_______. 

  (a) more than one (b) zero (c) less than one 

 (5) ________ ÈÛÍ©Ûä¶ÛÛ Š©¸ÛÛþù¶Û …¶Ûé Š¸ÛÅÛÜ¼µÛ¾ÛÛ× ¶ÛºõÛ¶ÛÛé Ðéü©Ûä ÐüÛé©ÛÛé ¶Û¬Ûà. 

  (a) ”ÛÛ¶Û•Ûà (b) ÍÛÛ¾ÛæÜÐüïõ (c) ¾ÛæÅýÛïõ 

  There is no profit motive in producing and supplying ________ goods. 

  (a) private (b) collective (c) merit 

 (6) …¶¶Û, ÈÛÍªÛ …¶Ûé ÁõÐéü¥øÛ¨Û ÈÛ•ÛéÁéõ ________ ÈÛÍ©Ûä…Ûé ™öé. 

  (a) ”ÛÛ¶Û•Ûà (b) ›ÛÐéüÁõ (c) ¾ÛæÅýÛïõ 

  Food, clothing, shelter etc. are _________ goods. 

  (a) private (b) public (c) merit 

 (7) …ÛµÛäÜ¶Ûïõ ÁõÛšýÛ …é ________ ©ÛÁõàïéõ …ÛéÇ”ÛÛýÛ ™öé. 

  (a) ïõÅýÛÛ¨Û ÁõÛšýÛ (b) ¸ÛÛéÜÅÛÍÛ ÁõÛšýÛ (c) ¾Ûäî©Û ÁõÛšýÛ 

  Modern state is known as __________. 

  (a) Welfare State (b) Police State (c) Free State 

 (8) ›ÛÐéüÁõ ”Û˜ÛÙ …é¤øÅÛé ________ ³ùÛÁõÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©ÛÛé ”Û˜ÛÙ. 

  (a) ”ÛÛ¶Û•Ûà ÈýÛÜî©Û…Ûé (b) ÍÛÁõïõÛÁõ (c) Š²Ûé•Û¸ÛÜ©Û…Ûé 

  Public expenditure is that expenditure which is incurred by the ________. 

  (a) Private individuals (b) Government (c) Industrialists 

 (9) ïõÁõÈÛéÁõÛ…é ïõÛé̂ ¸Û¨Û ¸Ûó©ýÛ“Û ¼ÛþùÅÛÛ¶Ûà …¸Ûé“ÛÛ ÜÍÛÈÛÛýÛ ÈýÛÜî©Û ³ùÛÁõÛ ÍÛÁõïõÛÁõ¶Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©Ûä× 
________ ýÛÛé•ÛþùÛ¶Û ™öé. 

  (a) ºõÁõÜ›÷ýÛÛ©Û (b) ¾ÛÁõÜ›÷ýÛÛ©Û (c) ¼ÛÇ›÷¼ÛÁõà¶Ûä× 

  Tax is a _________ contribution from the person to the Government without any 

direct reward. 

  (a) compulsory (b) voluntary (c) forcible 

 (10) ________ ïõÁõÈÛéÁõÛ¾ÛÛ× …ÛÈÛïõ¶ÛÛ ÈÛµÛÈÛÛ¶Ûà ÍÛÛ¬Ûé ïõÁ¶ÛÛé þùÁõ ÈÛµÛé ™öé. 

  (a) ÍÛ¸Ûó¾ÛÛ¨Û (b) ÜÑüýÛ¾ÛÛ¶Û (c) ¸Ûó•ÛÜ©ÛÉÛàÅÛ 

  Under _________ tax, the rate of tax goes on increasing with the increase in 

income. 

  (a) proportional (b) regressive (c) progressive  
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 (11) ________ ïõÁõÈÛéÁõÛ¾ÛÛ× Ð×ü¾ÛéÉÛÛ ïõÁõ˜ÛÛéÁõà¶Ûà ÉÛîýÛ©ÛÛ ÁõÐéüÅÛà ™öé. 

  (a) ¸ÛÁõÛé“Û ïõÁõÈÛéÁõÛ (b) ¸Ûó©ýÛ“Û ïõÁõÈÛéÁõÛ (c) ¼Û×¶Ûé¾ÛÛ× 
  There is always a possibility of tax evasion in the case of ________ tax. 

  (a) indirect (b) direct (c) both 

 (12) ________ þéùÈÛä× …é þéùÈÛä× ¶Û¬Ûà. 

  (a) ÈýÛÜî©Û•Û©Û (b) ¼ÛÛÔ (c) …Û×©ÛÜÁõïõ  
  ________ debt is no debt. 

  (a) Individual (b) External (c) Internal 

 (13) ________¶Ûà ¼ÛÛ¼Û©Û¾ÛÛ× ©Ûé¾Û¶Ûà …ÛÈÛïõ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ”Û˜ÛÙ ¶Û‘õà ¬ÛÛýÛ ™öé. 

  (a) ÍÛÁõïõÛÁõ (b) ”ÛÛ¶Û•Ûà ÈýÛÜî©Û…Ûé (c) (a) …¶Ûé (b) ¼Û×¶Ûé 
  For the _________ income determines according to expenditure. 

  (a) Government (b) Private individual (c) (a) & (b) both 

 (14) ¸ÛóÛé. ïéõˆ¶ÍÛ¶Ûà ÜÐü¾ÛÛýÛ©Û ¾Ûä›÷¼Û ÍÛÁõïõÛÁõ¶Ûä× ¼Û›÷é¤ø Ð×ü¾ÛéÉÛÛ ________ ÐüÛéÈÛä× ›Ûé̂ …é. 

  (a) ”ÛÛµÛÈÛÛÇä× (b) ¸ÛäÁõÛ×©ÛÈÛÛÇä× (c) ÍÛ¾Û©ÛÛéÅÛ 
  Prof. Keynes recommends that the Government should always have a ________ 

budget. 

  (a) deficit (b) surplus (c) balanced  

    

 

 

 

 


